Mathematics

Power Standards 7:4

Summative Test

Name _____________________________________________ Hour ___________

1. Which of the following is NOT an example of an arithmetic sequence?

A.  1, 4, 7, 10…

B. -4, -2, 0, 2…

C. 11,22,33,44…

D. 2, 3, 5, 8…
2. Given the equation y = 3x + 4, which set of numbers below would complete the table with the correct values of y?
	x
	y

	-2
	-2

	-1
	

	0
	

	1
	

	2
	


A. -5, 0, 5, 10

B. -3, 0, 3, 6

C. 1, 4, 7, 10

D. 4, 8, 12, 16

3. Which of the following represents a function?

A. (1, 2), (2, 2), (3, 3),  (4, 2), (5, 2)

B. (2, 0), (3, 1), (4,2),  (2, 3), (5, 4)

C. (3, 0), (4, 0), (5, 0), (4, 0), (3, 1)

D. (4, 5), (6, 7), (8, 10), (6, 8), (5, 5)

	x
	y

	2
	-8

	5
	-6

	8
	-4

	?
	?

	14
	0


4. Which ordered pair would be the correct value of x and y if the following table represents a linear function?
A. (11, -2)

B. (10, -2)

C. (11, -1)
D. (11, -3)
5. Drew is starting a baseball card collection of 6 cards.  If he adds 7 cards to his collection each year, how many cards will he have after 13 years? 

6. What is the 100th term of the following pattern?

0, 50, 100, 150…  

7. Explain the difference between the domain and range of a set of data.

8. Write an equation for the following function table.

	x
	y

	-1
	-1

	0
	2

	1
	5

	2
	8


